
Percent
Calculate the given percent of each value.

1. 10% of 297 = 29.7 2. 10% of 380 = 38 3. 10% of 30 = 3

4. 10% of 675 = 67.5 5. 10% of 5 = 0.5 6. 10% of 27 = 2.7

7. 10% of 838 = 83.8 8. 10% of 7 = 0.7 9. 10% of 732 = 73.2

10. 10% of 1 = 0.1 11. 10% of 60 = 6 12. 10% of 392 = 39.2

13. 10% of 756 = 75.6 14. 10% of 8 = 0.8 15. 10% of 93 = 9.3

16. 10% of 53 = 5.3 17. 10% of 9 = 0.9 18. 10% of 12 = 1.2

19. 10% of 4 = 0.4 20. 10% of 6 = 0.6 21. 10% of 774 = 77.4

22. 10% of 99 = 9.9 23. 10% of 684 = 68.4 24. 10% of 37 = 3.7

25. 10% of 42 = 4.2 26. 10% of 3 = 0.3 27. 10% of 54 = 5.4

28. 10% of 78 = 7.8 29. 10% of 585 = 58.5 30. 10% of 71 = 7.1

31. 10% of 485 = 48.5 32. 10% of 480 = 48 33. 10% of 25 = 2.5

34. 10% of 801 = 80.1 35. 10% of 955 = 95.5 36. 10% of 2 = 0.2

37. 10% of 22 = 2.2 38. 10% of 87 = 8.7 39. 10% of 19 = 1.9

40. 10% of 79 = 7.9 41. 10% of 65 = 6.5 42. 10% of 351 = 35.1

43. 10% of 97 = 9.7 44. 10% of 892 = 89.2 45. 10% of 96 = 9.6

46. 10% of 795 = 79.5 47. 10% of 409 = 40.9 48. 10% of 69 = 6.9

49. 10% of 82 = 8.2 50. 10% of 46 = 4.6 51. 10% of 63 = 6.3

52. 10% of 495 = 49.5 53. 10% of 662 = 66.2 54. 10% of 698 = 69.8
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